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1. Page number can be dded to 21d ument ¥
on - ¥ (A) /,a’“:a.Ff !JTI'd ?

(A) Header only
(B) Footer only
(C) Both header and footer ¢

(D) None of these | &
2. Which of the following mouse l_ecl;n;qﬂcs
is used to access the properties of an
object ? .
(A) Dragging (BY Dropping
(C)  Right-clicking (D) Left-clickimng
3. In MS-Excel 2010, which onc of the
following gives today's date in date format
(e.g. 07/17/2018) ?
(A) =THISDAY() (B) =TODAY ()
(€)' =Now () (D) =PRESENTDAY ()

1
¥

4. Choose the most appropriate option from /" FrefeiEa 9 8 g4y

the following :
(A)  Debit cards and credit card can be used
inan electronic payment system.
(B)  OMR stands for only magnetic reader.
(C) Skype is an example of system
software.
(D) The output quality of printer is
measured in Hz
5; AADHAR Card Number comprises of how 5
many digits ?

(A) 8 (B) 12 ( /""
(€) 10 (D) 16 Y\(‘/
6. Given below  are the 1wh | statements 6

regarding a smartphone that has  both
Bluctooth and Wi-Fi technology :
Statement 1 : Wi-Fi has shorter range
than Bluetooth. B
Statement 2 : Wi-Fi can transmit data at
faster rate than Bluetooth.
Choose the correet-option
(A)  Both statement | and statement 2 are
correct.
(B)  Both statement | and statement 2 are
Incorrect. )
(C) Statement | is correct and statement
2 18 Incorrect.

(D) Statement | is incorrect and statement |

2 is correclt. ‘
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5./ Frefetfam § @ fa@ IS TEAT _g,, fam
I\/ﬁﬁ—;ﬁ 7]"?1 3‘; qTqalﬂ GED ElE.f]:i & Iel's
27
) (B) =M
(A),gﬁ;ﬁ (D) Wﬁﬁﬁa i
T, wEE 2010 7 faeifefaa = K
m"ﬁ'ﬁpﬁ@mmnmﬁ(
07/17/2018) ?

(A). =THiSDAYf) 3By =TODAY ()
C) =NOW(] (D) =PRESENTDAY ()

Fugad famed AT

&y Bfaz w1e st sz H1E FI 3‘%[171
ZEFrIT ST TNET | R S HR AT |
ST T HAEE Sad Hrfes T8 B

(B)

(C) *Hzq fovem Ofadl =1 Ush 3ETed0
el

(D) et &1 3r3eqz ol Hz # Aidr S
1

YR FTE T fomas o1 w1 g g ?

(A) 8 4B) 12

() 10 (D) 16
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(B) 97 | 37 &9 2 =9 TeE B
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,_,_....-_:_.,ll

/B’f FYF | T & AN FER 2 T

E;% Contd



z?
/ nq-ﬁﬁmm?”’“‘qﬁr_ﬂw
7. Which of the following statements with “j/{' feifafmad 3 g Z 'F"J ard 7| 5
reference to RAM is FALSE ? (A) um H n " S T fel €
(A RANM s directly accessible by the CPU, oy T gakeet e wA Y
B . 3 ¥ )BT 6?] F’F,‘[ nle R -
(B8) RAM ¢ a part of a computer's (C) T A 3H A Hrarq.
_secondary memory. feqn fn A > f7 ad
(C) RAM s used 10 store the data that is ayfara fRem ST zl
currently processed by the CPU. Al ¥ _
(D)  RAM s volatile in nature. (D) uouEfa § wfrr el Z =
8. Malicious software is any program or file 8 LRI ﬂf'#"’f’n w13 WA frad e
that 1s harmful (o a computer user. Which HTALT YT a4 femu wfasRTTs *[
of the tollowimg s malicrous software 7 _ oA A vty ateeaEr 77
(A) Nero Burning ROM (A) il 71 S 7 9 v

-

(B) Malware /LB{ a9
(C) Pendrive (\’/l_g::”o (C) vuagrEd
(D) CCleaner (D) =T (CCleaner)

& i : A
9. Which one of the following statements \/ﬁﬂﬁfﬁﬁﬁﬂﬁmﬁ & At A

about software is correct ? wel e ?
(A) Tt cannot be manipulated. (A) 3T TR 721 fn =1 JFan)
(B) It cannot be touched. ) ).B'i 3.3 T AqhA
(C) Tt cannot be changed. (C) ZH asen F& = Hehdl | L
(D) Tt does not have instructions or programs. (D). PFEAE f33w m FrFR R A
10. The URL that needs to be followed to fill % | RS Y & faw fam g#Arue FO9reEr
ITR : EFT?T BN :
(A) hups://incometaxindiaefiling.gov.in/ )A) hitps://incometaxindiaefiling.gov.in/
(B) www . passportindia.gov.in  (B) www.passportindia.gov.n
(Cr o htps/wwwirete.co.in v (C)y -~ https://www ircte.co.in

(D) hupwww.indianrail . gov.in ) hup://www.andianrail.gov.in
11. What 1s YouTube ? JY. ;{{r?,w g 7

(A) Ttis a video sharing and video search I Th 9 ié"ll 7 ’-If_ T 3T Ered| 1 e
. . G 4 At Bl o 1) ':7;':,.‘, *—r

website which allow users o upload, AT § A IO 3 EUER

AYATS 34, =& 7T T73 ﬂhJ:{ T:I-TT

) \-:L_-w and whurc_ \‘IdC?S. . sRfA 7
(B) Itisan elcclrmu.c 1_11:1|I. by which user (B) TE s zoiffw 6w 2, faaw Ry
can exchange digital messages from ; 7 "Wm"_rn Us A1 9fas grasalad TJ
One or more recipients. fefees qav =1 3= T2 7 95%dl B
(C) 1tas an apphicauion that specifies in (C) 29 T U & T.T Al 'ﬂ_ 12 3l
ovidine ; ; AT HE TATF Fi H’*"fm 7
providing video chats and voice calls. . =
D) Ui wsec . . ! (D) QWT‘T’IPT‘ "!h—‘nf} HEHE B9 a::l-;n
(D) Iuis nscd_ for buying and sellmggood.ﬁ_ﬁi 3T aq m :;-* "= 3 Ay & feu
and services by.Electronic Commerce. fean sman @ '
12. What is the Full form of S0 2 © | 42l sso @ e rm‘ri FNE 2
(A)  Social Security Officer (A) A frafd stifeay
(B) Smgle Sign On /LB/] fmm T4 a4
(C)  Source Selection Officer (C) =9 53913 ‘qﬁ"}—q”
(D) Support Service Organization (D) =R wfem itTios

—~ . ..
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\ simply click on the hyperlink,

A) ]
' Press Alt key and then click on the

B
: h}"“l(‘lhll]\.

() Press Curl key and then click on the
hyvperhink,

(D) Press the Shift key and then click on
the hyperlink.

14. Idenuty the correct order of (he following
different types of computer cmnrmm:m;
rent from fastest to slowest in terpyy of
access time @

i R.*\r\i

(i) Optical Drive

() Hard Drive

Choose the correct answer from the Optionsg
given below -

(A) (). (). (1)
(B) i), (1), (iin)
(C) (). (ib), (iii)
(D) (). (i1). (i)

I5. Which of the following extenston is used

0 save images on the computer ?
(A) .omd (B)y .xls
(C)  .vilc (D) jpeg
16. IRCTC Services are available o bl
phone number ?
(A) 102 (B) 191
(C) 139 (D) Wl

I7. Select the corpeey ALitching option with
respect o MSSWemb~010 110 the table
given below -

e

[1.] Cul+v
H’ 2 Ctrl + Y
1S, | Cirfw 7

t-B (July - 2023)

(A) #a7 zewfEas W fams =7
(B) Al <= 3w fme aeedfee g e

EZd

ACT Cul %3t zant e iy st W
s =7

(D) Shift %31 zamt si o aemfos o

4/‘ e =7
J4 W*mv%ﬁaﬂﬁﬁﬁhﬁaﬁfﬁwm
m“*“ﬁﬂmwﬁn

G) =
(i) ifzws gre
(iii) =g grg

aﬁﬁamﬁaﬁﬁﬁénﬁmgﬁq:
(A) (1), (1ii), (i1)
(B) (i), (i), (iii)
AEY G, Gy, Gii
(DY i, (i), ()

W3 rtatan #3 fem mi w vgi

m%ﬁﬁ@ﬁ%@hm%@
(A) .cmd (B) .xls
(©) vl MY jpeg
R /mm@mmmmmfmmwm
| IS F 7
(A) 102 (B) 191
@7 139 (D) 911

\l]/’iﬁ'{?lfrg?ﬂﬁwﬂmﬁ? 2010 3 e
ﬁnﬁﬁﬁmﬁmaﬂwﬁm:

1| Cul+v P | AR \
2. Cul+Y i(‘)ll et

3l Cul+Z "“—"'-L-—l_RI"_ EXEES
(A) 1—(P), 2—(Q), 3—(R)

BT 1—(Q). 2—(P), 3—(R)
(C) 1—(Q) 2—(R), 3—(P)

(D) 1—(P). 2—(R). 3—(Q)

(4)
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18. In MS-Excel 2010, which of the following
methods s used o nunimize the Ribbon ?

Right-click anvwhere on the Ribhon and

then chick Mimimize the Ribbon only,

(B)  Press Curl + FI oonly,

(C)  Double-click on any Ribbon tab only.

(D) Al of these.,

19. The FI. F:. IF3 cre
bar of a Kevboard are called

(A) Formula keys

(B)  Function keys

(C)  Fact kevs

(D)  Special kevs

20. Which of the following statements with
reference 1o a USB pendrive is False ?

(A) Ivis a portable storage space device
which is capable of taking care of
your storage.

(B) A pendrive can easily
120 GB and even more.

(C) Itis used as a mobile storage device.

(D) It is a volatule device.

21. Computer speakers and headphones are
which type of devices ?

(A) Output (B) Input

(C)  Storage (D) Sottware

22. Select the correct option regarding ‘Raj

Dharaa'  e-Governance  Initiatives - of

Rajasthan :

(A)  The Rajasthan Cloud

(B) The Rajasthan Network

(C) The Rajasthan GISS = DSS

(D) The Rajasthan  Service
Gateway

23. Choose the most appropriate option needed
for creating an“effective presentation -

(A)  Always _cheek  the  spelling  and
grammar in your presentation.

(B) Use appropriate font size, so that
audience must able to read your slide
from distance

(C)  Use bullets or short sentences to keep

(A)

kevs on the top most

store up to

Delivery

(ext sunple.
(D)  All of these.

vet-B) (July-2023)
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19. {f—If;enmnlr:m st am Wi Fl, F20 F3 ==
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FYF A 77 7
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24. Select the correct matching option fro,, .
table given below :

1.|Input Devices | (P)|TrackBall
Microphone,
Keyboard

2.| Output Devices |(Q)|Hard Disk Drive

3.| Storage Devices | (R)| Monitor. Printer)

Headphone

(AY  1—(P), 2—(Q), 3—(R)
(B 1—(Q), 2—(R), 3—(P)
(C)  1—(Q). 2—(P), 3—(R)
(D) 1—(P), 2—(R), 3—(Q)

« What does dots per inch (Dp
(A) Number of by

Iy measure ?

(B) Density of the pixels on a computer
screen

(C) The density of bits on a disk

(D)

Density of graphic fijes gtored )’f
hard disk i A\ﬁgf
- In MS-Excel 2010, if Yyou-apply a formula

-%ﬁﬁmﬁﬁqﬁﬁ]ﬁﬁﬁmﬁﬂ
14,/ FR AR
' e -
---_-.-—-——_-.—_.-— 1}
| wfgﬁ-@“@) Swald, AEHIHA
1.] &1 : )
.| sy feamemy|(@) 8 e S
3 | yusrmW i|(R)| wifrez, fuet, e8I
—A) 1—P). 2—(Q). 3—(R)
(B) 1—(Q). 2—(R) 3—(P)
(C) 1—(Q). 2—RN 3—(R)

(D7 1—(P), 2—(R). 3—(Q)
“stzm wfa ¥ (DPI) F0 =l & 2
(A) fazm @1 e
Wﬁﬂmﬁaﬁﬂmm
femr w fazs =1 o5
o fomr W HUEE WiEEw wEEl W

(C)
(D)

g
\Z)AWW 2010 8, afz s f&A favg
Fe1 # w1 wifen @y Fa ® 30w sfoim wefia
BT & ##uuas4 A .

(A) 39 53 & g3 ugT § 98 o gwa )
)quamwﬁmq'éaﬁﬁaﬁma;ﬁ%ﬁm
Tga TZ1

(C) 393 o wisfen g faan)
(D) 3MYH H{FT TR TEE

\\}7-.’" rjmmw q g A= F w8 Tz

T

_K) Al B10, C12, DI

(B) 1D, 66A, 7T, 8Q

(C) +.- %/

SO | By s
8. T | 2 T

Bl

,{m/’;‘w

¥ 90 9 FEd

...........

(B) &m

26
in a particular cetfFand the result display is
#i it #it then :
(A)  You cannot put the formula in the
formula bar.
(B) The result of the formula i~ too big to
display in the cell.
(C)  You put the wrong formula
(D) Your formulailoglc i~ ncorect.
27. The correct example. Comparison
operators i MSw-
(A) JAIZ K
(B)y M
(C)
(D) 5, <
28. Deleted mar - 1om the Inbox can be found
i :
(A) Trash (B) Spam
(C) Promotions (D) All Mail

(July - 2023)
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29,0 Idenny ) s grapy a#l H 7l
\“,‘th. Ve correet order of the following L 2. f,“_ﬁ,,ﬁ,ﬁ sjepm T @1 854 : 7
SORTEC capacity rank , v rAAD, -
smallest capacity from largest 1o U g @ @l CrANP I ;c e ®
(1500 MB (i) S KB () 1500 vEEly (0D 5T
i) LS8 (iv) 2 TB Gy 1 it (iv) 2 AN
Choose the correct answer from the option H9 fan o famen § A wE 3T AT,
given below ' o
(A) (iv). (i), (iii : (A)Y vy, (), G, i >
oo 0o S (111), (1) . B q “{\@'{‘ X~ -
(B) (), (v, (i), () (B) (). vy, G, G \_79 S ‘._},'?'\r'-_/
(C) (), (), tn), (1v) ACYH ), ), G, vy \/ ({/J,
(D) (iv). Q). (). (i) AP) 0, 00 i i Gy
30l o and ............. refers to the action | \307 ............ T ... TEG AT A T
of clicking and holding down the mouse < s AT 38
azq & fama Fr s aarsy
button while moving the mouse and realign ;e w A s rzfda v )
it 4. e r 1 ' %
1 faerw g, g7
(A) Drag. Click (B) Drop, Drag (A) 5T, [ = e BFAF
(C) Drag. Drop (D) Click, Right Click (C) 571,31 (py A, TS ol

wirfafea gn 1 w1 SECRILEOR

31. In which printers, Printing 18 achieved by ‘}J .
w7 fam e & gzm fan Tl ©

deflecting laser beam on to photosensitive

surface of a drum ! ) (A) Efzffzas

(A Dot Matnix /\Q% - (BY  #an ftrﬂ

(B) Laser printer \“ ,_/-”/’ P Se e
(C) & =Tl

(C) Daisy Wheeb—"
- (D) forem- g

(D) Electromagnetic printe .
( gnetic printer =1 T : 7' 231 €

32. A .. ... isasetof rules that governs data \*2/ ---------------- A
communications. wl fquf:; LACULY 5 e
I | | ‘. 5%
(A) Forum (B) Standard (Al A D) =i & FE TE
t]l:l%!f'l = = o1 b1 e
(C) Protocol (D) None of these 3/‘0 Ep 'ﬂ_'_f SR
33. High Resolution computer_monitors will 3= Rreqer . ‘
have o
(A) thgh dpi )’ 3= _‘-’rﬁ_ m’
R . dni (B) f7=1 Sidiame
(B Low dm -
(C) 256

(Cy 256 colors o o
(D) Resolution s notemeasured in dpi \}/LBD rff?fnlv]':[ ?:'I ZTq13re | T8 /191 A7

34, What is anantersection of a row and column 347 SeviE H ufFa s w5 ufaeess o @ ?

in a spreadsheet ? (A) ‘qu‘n (BT
(A) Formula (B) Cell o J -
(C) FFvitz D) T3

(Cy Worksheet (D) Address

A device that not only provides surge TF ITF N 7 FAA T Hqren w2 wvar g

3s.
protection, but also furnishes the computer afeF gfar sy = ,,m{ A
with battery backup power during a power FFAY Ut O e T 2 S CEaL
outage Is . ) ! .
i - (A) F.IRAL s
(A) USB (B) Keyhoard _4,_- (B) #1=
7 E LY
(C) UPS (D) Memory ‘9 1. 91U, (D) 9gm

o
Ha
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